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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are FOURTEEN questions divided in TWO SECTIONS and printed both, in
HINDI and in ENGLISH.

All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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Q1.

Q2.

Qs.

Tus A
SECTION A

Hresih & § fRq-ged 7o Icva g 2, 99 g 1 whgm % Fu et
@ #

(a) U Aoy
(b) eI fad
(¢) =g faa

ST | $9 HE ol HE AT 1 FHhAT 8 ? @ |igd vl H | (150 I6g)
Conflict of interest in the public sector arises when

(a)  official duties,

(b)  public interest, and

(c) personal interest

are taking priority one above the other.

How can this conflict in administration be resolved ? Describe with an example.
(150 words) 10

faferet da = wed & frafafaa <6 wrEfierar &1 wheor Hifm (150 =)
(a)  9RGfIdT

(b)  aTEcE!

(¢  Tisugrar qen =m

(d) g favam %1 9rEd

(e) ®ar wE

Examine the relevance of the following in the context of civil service : (150 words) 10
(a) Transparency

(b)  Accountability

(¢)  Fairness and justice

(d)  Courage of conviction

(e) Spirit of service

e s AT dww A AiEr ToRify § e €9 % fig sagew T A
3! Hfsha Tofifa # 10 s & fore sum gemsy | (150 1)

Young people with ethical conduct are not willing to come forward to join
active politics. Suggest steps to motivate them to come forward. (150 words) 10
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Q4. () WS A Tf ®9 ¥ SHHR HT TAMSST hl TH T0@ B | 39 HaW H aArdeh
Sfie & ITET a0 §Y WA whifeY | (150 Te2)

One of the tests of integrity is complete refusal to be compromised.
Explain with reference to a real life example. (150 words) 10

(b) aﬁwﬁaﬁamﬁﬁﬁaﬁmmmﬁm&rﬁwél
Tergeryor hifsT | (150 915G

Corporate social responsibility makes companies more profitable and
sustainable. Analyse. (150 words) 10

Q5. (a) “F< WETTHIEN WEM W 1 WG (JF) ] | S THE HUA & o AT Al 6
e AYET Fgd G B Th § | T 99 FB A fagial W neia 7
3 féfira g # 17 — Jdiferm Sem |
IR 2 FY I AT HT e Hig g () quret 9 <90 H1 3Afed fepa
2, (i) 9 9 39 % e & foe e fee 2 1 (150 )

“Great ambition is the passion of a great character. Those endowed with
it may perform very good or very bad acts. All depends on the prmc1ples
which direct them.” — Napoleon Bonaparte.

Stating examples mention the rulers (i) who have harmed society and
country, (ii) who worked for the development of society and
country. (150 words) 10

b) “BU g favarg & & afe freh Tsg 1 yeR 4w SR Gax w1 a1 S g,
@ 3T TS % @ TgE A S A1 gha 7 | F § foan, v @ R 7
— TR, I7egw FHam | fawerwor i | (150 w1s3)
“If a country is to be corruption free and become a nation of beautiful
minds, I strongly feel there are three key societal members who can

make a difference. They are the father, the mother and the teacher.”
— A.P.J. Abdul Kalam. Analyse. (150 words) 10
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Q6. (a) mqﬁﬁﬁmﬁm%wmmmmﬁﬁ?(lsow)

How will you apply emotional intelligence in administrative practices ?
| (150 words) 10

(b)  ifeh, Wil T Geanm STaisi geeli & MR 91 S 8 | T8 Hifvw |
(150 318g)

Strength, peace and security are considered to be the pillars of
international relations. Elucidate. (150 words) 10

Q7. (a) oW THI H Afersh gl H Hehe, TE-Sfe Y wehiol o & o1 gI R |
ferer=mr HIT | (150 v1=2)

The crisis of ethical values in modern times is traced to a narrow
perception of the good life. Discuss. (150 words) 10

(b) afthad usffa wufy & ol o1 =g o T8 8 g7 @ | 384 “9gmd %
IHAH W Had BIE IeqaEd % e € sy 3t dwg & vaie” |9
2 | 3 sitfarer forg IS | (150 ws1)

Increased national wealth did not result in equitable distribution of its

benefits. It has created only some “enclaves of modernity and prosperity
for a small minority at the cost of the majority.” Justify. (150 words) 10

Q8. (a) Wﬁm:aﬁ:mmmaﬂtmﬂwﬁﬂ%a%lﬁw%ﬂaé#m%%q
Tid-3cUTesh &1 Hehdl ® | == I | (150 91sQ)

Discipline generally implies following the order and subordination.
However, it may be counter-productive for the organisation. Discuss.

(150 words) 10

(b)  HHT=IG: | foT T qen =mve w9 @ Grefee Ao g ok et %
@ HE, T A ARG TR, T 8 AR Tefeaawer Sk A wE e qrd |

39 O W AT R TS 8 ? THBIC G5 F ITEW g1 THHTRT |
(150 31sg)

Without commonly shared and widely entrenched moral values and
obligations, neither the law, nor democratic government, nor even the
market economy will function properly.

What do you understand by this statement ? Explain with illustration in

the contemporary times. (150 words) 10
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© s B
SECTION B

Q9. 9 T SHHER 3R Rreier fafye da% § | ey Fefafaa it 3@ % ©

(a) U G g 2 f AR SR w1 uien s 8 w9 Rl W Sl
T T U TehdT § 31X gfi@r % fou off wmrerd ¥ & wehdl &, Sefe
sHfed e Sffeeh @&t qeh gge § HEEh 8l dehdl @ |

(b) Waﬁamﬁﬁwﬁaﬁ?ﬁﬁﬁma@@?ﬁ%,ﬁﬁﬁﬁwm
I T SCTHETH Sl & hIg Beh Aa| ggdl |

© e qdwi % wed FE ged fawmrers agli % g gl € |

@ =i PR s onfis omeww # wimfhm 9 @, Afkd SRAR W @
HTEH-YEH UTell sl Ao HIA ST 2 |

39 HHT hl, ITh U SR G Higd e AT | (250 ¥5])

You are an honest and responsible civil servant. You often observe the
following :

(a) There is a general perception that adhering to ethical conduct one may
face difficulties to oneself and cause problems for the family, whereas
unfair practices may help to reach the career goals.

(b) When the number of people adopting unfair means is large, a small
minority having a penchant towards ethical means makes no difference.

(c)  Sticking to ethical means is detrimental to the larger developmental
goals.

(d) While one may not involve oneself in large unethical practices, but giving
~ and accepting small gifts makes the system more efficient.

Examine the above statements with their merits and demerits. (250 words) 20
Q10. 3T TE.T.TH. WQ+}%EVQ%%@IW%WﬁﬁWm%W.

SIRETd WIATeRR % foru 9 fofu e & | wneTeer % T S A1 wneesh i T

S R Y q S U gHedt oE Wl U " oft s i i amueh feden 9,

gHeT % ol g e W HIEE §Y Y | I gld WEEAT bl SeRAHa off |

o U qifEafy § @ frar @i 2 ueft wriardl @ Siifaes THEET | (250 veT)

You are aspiring to become an IAS officer and you have cleared various stages
and now you have been selected for the personal interview. On the day of the
interview, on the way to the venue you saw an accident where a mother and child
who happen to be your relatives were badly injured. They needed immediate
help. :

What would you have done in such a situation ? Justify your action. (250 words) 20
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Q11. 3 forelt Wed & wra waer o % stene € | ek T st @ w W e
HTd §Y @ B T | SHHT INER G R G R @ oA Reeg FEEt 3 56 o @
améﬁﬁwaﬂﬁm%ﬁ%mﬁﬁaﬁmﬂmgw%mmgﬁm%
T H AT | F b B g e F aER H1 gares 23 H 7 B g
FATT W =l T | YU SIS o LAY 4 YW Y GEY F HATE 2 Fl F |
GG HSA i AT T HATE S 2
AT T FeTEl # | T & o i Gt ohY == hifde | (250 Ie)

You are the head of the Human Resources department of an organisation. One
day one of the workers died on duty. His family was demanding compensation.
However, the company denied compensation because it was revealed in
investigation that he was drunk at the time of the accident. The workers of the
company went on to strike demanding éompensation for the family of the
deceased. The Chairman of the management board has asked for your

recommendation.
What recommendation would you provide to the management ?

Discuss the merits and demerits of each of the recommendations. (250 words)

Q12. 1Y Th TR 91 o) TS AAor & 3R amueh) U o) Icqres® HrOt St F Hew
e & oy araeha w0 2 | |ig1 srcafees wfeauferess & qem omoeht weot % forn
T& Wl W HA1 g Hew @ | R w dier B o w2 ) R % v
STATCH HEFHT ot o AASR 7 AMIhT Tk Bt I M F BN F ST A |
B S0 W H Wt % AR ¥ UF HiewnEihd # o o1 T Rl
HIeETsihe W HaR Afth g aE | =2 8 R | o9 9= § e i3 A iy @
TS FA TET A1 HR g M W o @i dar o | Afvady s 5w ge 6@
S A % T a1 & ol a1 39 wen % T yerwenaht € | wew gHeei &
®S HI hl A T AT 36 910 A T 3 BF o9 39 UeT F wS w4 A
FEOH! St & AAST W AN T 1 gehar & R gfiomreasy dter 89w A
S WHAT B IR A5 HiaT T FEAT % AT s et 2 |
1 {568 bt hl gferensii 1w HI 2 gw ARy F aR § onueh) o wfif
gt ? (250 3reg)
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Q13.

You are the manager of a spare parts company A and you have to negotiate a
deal with the manager of a large manufacturing company B. The deal is highly
competitive and sealing the deal is critical fbr your company. The deal is being
worked out over a dinner. After dinner the manager of manufacturing company
B offered to drop you to the hotel in his car. On the way to the hotel he
happens to hit a motorcycle injuring the motorcyclist badly. You know the
manager was driving fast and thus lost control. The law enforcement officer
comes to investigate the issue and you are the sole eyewitness to it. Knowing
the strict laws pertaining to road accidents you are aware that your honest
account of the incident would lead to the prosecution of the manager and as a
consequence the deal is likely to be jeopardized, which is of immense

importance to your company.

What are the dilemmas you face ? What will be your response to the

situation ? (250 words)

o T R A AR s B s fret o, 38 sy ww @ Pt g
B AT SR 1 @1 o7 31 9% @8 T | 36 HROT 3 (Hary Hoigl o Afgelrd 7
= off wite 9, 7R T | A g Aoy - T | o gY 9 | W g g
e IRET i Tehe-gaTasT Sy form mm oft fmtoskal st froram s formm |
29§ BN arell 39 YR ohl HEAIS S NV §AsT | 3H YR hil HeATST Bl VA h
fore o1 game @ | (250 w1eg)

A building permitted for three floors, while being extended illegally to 6 floors
by a builder, collapses. As a consequence, a number of innocent labourers
including women and children died. These labourers are migrants of different
places. The government immediately announced cash relief to the aggrieved

families and arrested the builder.

Give reasons for such incidents taking place across the country. Suggest

measures to prevent their occurrence. (250 words)
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Q14. 319 Th AWM fawrT & arestes Sgerm sttt (f.31E.37.) § | oy 9 € 6
2005 T ARLA.31E. Afufem wemafe areiia wd samed 6 aieerar s 2 |
At TR W HeIfad BH9HT YSITafeh 3agr Ud F1E | Ab o HRiE
2 | foheg T 378,301 % @9 # o @1 R 6 o W it § @ o Ry
ATFrehT BT B % T g Faures! % forw anferep e w@ & it 349% g
HH T H AT WA F | WAHY W FRAAE, W A 9 @ ot § S
frafid &9 @ sm.d.emR. afuswn v wa § ot Fofuerated @ far feeam &
YA H T | TR h A AR, i T wwreT % weimerd w whga
9T Sl 8 TR "evEa: fayg anfaeset ) Siflen § era fon & fme ey =
TS AT B |
aTEdfoieh SN feTedteeh ATeeh1aT I ST B & fTC 19 Fa1 I9R FITEY 2 o7
gerret o T 37 Qe i guia FfRT | (250 we2)

You are a Public Information Officer (PIO) in a government department. You

are aware that the RTI Act, 2005 envisages transparency and accountability in
administration. The act has functioned as a check on the supposedly arbitrarily
administrative behaviour and actions. However, as a PIO you have observed
that there are citizens who filed RTI applications not for themselves but on
behalf of such stakeholders who purportedly want to have access to
information to further their own interests. At the same time there are those
RTT activists who routinely file RTI applications and attempt to extort money
from the decision makers. This type of RTI activism has affected the
functioning of the administration adversely and also possibly jeopardizes the
genuineness of the applications which are essentially aimed at getting justice.
What measures would you suggest to separate genuine and non-genuine
applications ? Give merits and demerits of your suggestions. (250 words) 20
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